Pavani Govardhan Sir

GK and CURRENT AFFAIRS

SET -7
1. Nobel prize is given in the memory of
%W&)J}QJQ!(@!J}}
1. Samuel Nobel
2. Allan Nobel
3. Sam Nobel
4, Alfred Nobel

2. Ashoka Chakra in the National Flag has this number of spokes
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3. ISRO Launches a Record of 104 satellites into the space on

1. 2" February, 2017
2. 11" February, 2017
3. 15" February, 2017
4. 21" February, 2017
WK Tkl Uz 104 2 ISROWs
2017 807272 .1
2017 S/ /11 2
2017 $sf /15 3
2017 $//21 4
4. Hypermetropia can be corrected with
1. Convex lenses
2. Concave lenses
3. Biconcave lenses
4, Plano Concave lenses
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The official language of Arunachal Pradesh is
1. Hindi

2. Punjabi
3. Konkani
4. English
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‘Prince of Wales” Museum is located at

1 Kolkata
2 Mumbai
3. Gujarat
4

Goa

< Ol s “Prince of Wales’



The State animal of Andhra Pradesh is

1. Black Buck

2. Wild Buffalo

3. Indian Elephant
4. Leopard

‘Ld/j@&gjgﬂ)4l/lr

(Black Buck) ¢ ml- .1

(Wild Buffalo) J¥¢% 2
(Indian Elephant) up/ &&l’ém’vz 3
(Leopard) G .4
The four districts of the Rayalaseema Region are
1 Anantapur, SPSR Nellore, Chittoor, Kadapa (YSR)
2 Anantapur, Kurnool, SPSR Nellore, Chittoor
3. Anantapur, Kurnool, SPSR Nellore, Kadapa (YSR)
4 Anantapur, Kurnool, Chittoor, Kadapa (YSR)
e £ E el
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10.

The host of FIFA World Cup — 2018 was

1. France
2. Russia
3. Brazil
4.

Germany

i S 2 2018 - FIFA
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The first BRICS Film Festival was organized at

1 Bengaluru
2 Hyderabad
3. New Delhi
4

Mumbai
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11.

12.

The only riverine major port in the Country is

1
2
3.
4

Ball - point pen was invented by

A w0 -

Chennai port
Kolkata port
Paradip port

Mormugao port

John J Loud
Nikola Tesla
Tennant

Edwin T Holmes
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13.

14.

The affected organ due to Pneumonia is

1 Small Intestine
2 Lungs

3. Brain

4 Kidneys

P Ul_sitre >s§ Pneumonia
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The first country to implement family planning is

1 China

2 Australia
3. Nepal
4

India
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15.

16.

The longest river in the World is

1
2
3.
4

Brahmaputra
Nile
Amazon

Ganga

The capital of France is

1
2
3.
4

Cairo
Metical
Peso

Paris
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17.

18.

The 5" ASEAN Defence Ministers’ meeting was held on
19" and 20™ October, 2018 at

1
2
3.
4

New Delhi
Hong Kong
Singapore

Kathmandu

J'lel ASEAN Defence Ministers’ uuf ,L,f 2018571 201 19
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“World Earth Day” is observed on

1
2
3.
4

8" March
28" February
10" April
22" April

A
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The Author of this book “Wings of Fire’ is

1. Dr. APJ Abdul Kalam
2. Dr. B.R. Ambedkar
3. J.P. Narayan

4. I. K. Gujral

Utz Z " “Wings of Fire’
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This period is called “The Golden age of Ancient India”

1 Satavahanas period
2 The Harsha period
3. Gupta period
4

Mauryan period
A
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21.

22.

SGT — PERSPECTIVES IN EDUCATION

SET -7

In the History of India, this period was recognized as
“Period of Intellectuals”

LZWL’@{,J?Z: “/5}Ku:’ijcj,,?)'”//uu’!uﬁé/t‘&bﬁh

1813 - 1834
1834 - 1854
1823 - 1844
1803 - 1824

A w0 b

One of the following institutions is not offering training programmes
to educational officers who are monitoring the different kinds of
Educational Institutions.
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CCRT

NCERT

NUEPA
CBSE
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23.  The word “Nali Kali’ is derived from this language.

1. Telugu

2. Tamil

3. Kannada
4. Malayalam
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24.  Model Schools are set up only in certain blocks, the reason is

1. Economical backwardness
2. Educational backwardness
3. Social backwardness
4,

Low percentage of female literacy
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25.

26.

The first Chairperson of National Commission for Protection of
Child Rights (NCPCR)

1. Santhi Sinha

2. Arundathi Roy
3. Sindhutai Sapkal
4. Ruchira Gupta

R L (NCPCROJBISP B34 11 65
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The number of articles in the Universal Declaration of
Human Rights

d/ (articles)= > Universal Declaration of Human Rights
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KGBYV - Expanded form
<761 KGBV

Kasturba Gandhi Balala Vidyalaya
Kasturba Gandhi Balika Vidyalaya

Kasturba Gandhi Balala Vikasakendram

A e

Karamchand Gandhi Balika Vidyalaya

The reason for Microcephaly in children is due to the size of their
head which is less than

1 20 inches
2 19 inches
3. 18 inches
4

17 inches

catn[ =y 1:,fLeJ /ﬁ@l,?;d/ Microcephaly U4
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29.

30.

Sakshar Bharath Mission was started with an aim to strengthen

1 Women Adult Education

2 Male Adult Education

3. Education of Physically challenged adults
4

Education of Adolescent Girls

‘LQ“‘)C/;}.IJ S U156 Sakshar Bharath Mission
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The act which is related to Physically Challenged persons in India
ujﬁ"}wc;d/}jﬂ DAY

RTA Act
PWD Act
RTI Act

RTE Act
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31.

SGT - Educational Psychology
SET-1

KPA Chowdary Sir

DTP-Ravi

Progressive series of changes that occur as a result of maturation and
experience is

1.

2
3.
4

Development
Growth
Ability

Intelligence

‘gt'n!,g:c‘_,{?La&}u!ﬁﬁﬂ(}gh;(u:;&j

(Development) (/35
(Growth) $ 4t
(Ability) et6

(Intelligence) <~}
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32.

33.

‘Life satisfaction’ is usually referred to as
1 Contentment
2 Happiness

3. Coping
4

Acceptance

4‘-.L“tgl,,( o /J l{.ubrl&/ (Life Satisfaction)gf ,ngf“b”

(Contentment) uC,»:bl 1

(Happiness) &% .2
(Coping) t» .3
(Acceptance) =J»? .4

If the following variable is not controlled there will not be
objectivity in experimental result.

1. Independent variable
2. Intervening variable

3. Dependent variable
4,

Experimental variable
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34.  “Motivation is the base for all types of behaviours” — This definition
is given by

Jé-uxf'u—é!/", “9%%6}@,(}%.5,5@4 L(lﬁl(ﬁ”

1. Caroll

2. Coleman

3. Woodworth
4. Guilford

35.  The age of increased individuality

1. Adolescence
2 Adulthood
3. Babyhood

4 Infancy

< Jbduots Gndividuality)ea FIt £ U
(Adolescence) Lz .1
(Adulthood) 1z .2

(Babyhood) u‘j 3

4

(Infancy) 9r; 2



36. A child who was initially inattentive or unaware of things is now
beginning to notice details. According to Piaget, the child is in

1. Pre-operational stage

2. Concrete-operational stage
3. Formal-operational stage
4, Sensory-motor stage

ios F ‘Lp?r//g%(akfmmuﬁ;u:z_/gL;l;fui’;w,j.g
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37.

38.

A child who is guided by the teacher to monitor one’s own feelings
and emotions, discriminate among them and use the information to
guide his own actions.

1 Interpersonal intelligence
2 Intrapersonal intelligence
3. Emotional intelligence
4

Personal intelligence
A l<d_/monitor /.puwwvmé;i'%w:éw/gfk{.,g
et et S Bl ol S Skr Lod e imi S0
S ot
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The period of retention in short time memory is (in seconds)

(uﬁu/iﬁ)ﬁd,{' J&'J}kgjﬁéb(}xﬁ

10-15
25-35
20 -30
5-10
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39.

40.

Henry Murray developed

=l

g;@]/ Vi Henry Murray

Rorschach test
Thematic Apperception Test
Rating scales

Bell’s Adjustment Inventory

The performance of an average child at any chronological age is

1.

2
3.
4

Actual age
Performance intelligence
Overall intelligence

Mental age
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41.

42.

The first emotion developed in the infant is

1. Excitement
2 Jealousy

3. Delight

4 Distress

Lgfflgﬂ!)z;ﬂl&éj_:c;y/uﬁéﬂfj

(Excitement) $//&
(Jealousy) «~
(Delight) & ~

(Distress) 4 / é/

The extent to which a test measures what it purports to measure

1. Purposive testing
2 Validity

3. Reliability

4 Specific ability

A
2
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(Purposive testing) élgdwﬁ”
(Validity) &>
(Reliability) s*1

(Specific ability) = o5 &
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43.

44,

The first step in Pavlovian method is to ensure that the new stimulus
IS

WS E E Ut o kg3 i,
Conditioned
Triggered
Evoked

Neutral

A w0 e

The conditioned stimulus is regularly presented without the
unconditioned stimulus thus losing its acquired capacity is

1. High order conditioned
2 Trace conditioning
3. Extinction
4

Spontaneous recovery
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45.

To promote creative thinking in students, the teacher should
encourage students to come out with ideas which are

1. Ingenious
2. Novel
3. Different
4. Imaginary
mufz_)*}/“ﬂ%;f%tg/(‘”;Lg;é,}faugg&"’ uf;bw
SR L s L
(Ingenious) J1 e 1
(NoveD) ¢k
(Different) —i*
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46.

47.

A student is encouraged to use convergent thinking, the number of
solutions (s)he will come out with will be

1. 2
2 1
3. 3
4 Numerous

0 J-Lf d;.,,f,;/" ‘f (convergent thinking) @rd/‘f // H‘ Jw..g

€2z fe
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33
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This is a scholastic aptitude test

-< (scholastic aptitude test) < K@L’@zd“ Ll

Finger Dexterity test
Metropolitan Readiness test

Tweezer Dexterity test

> e

Minnesota Manipulation test



48.

49.

Children will start to identify the colour differences by the age of
1. 2 months

2 4 months
3. 5 months
4

1 month

ctwe FUTKer W §o S 3 3P L uf U

&2
&4 2
&5 3
> 1 4

The process of modification and selection is called
1. Adaptation

2 Adjustment

3. Exceptional intelligence

4

Survival of the fittest
%L"”’?( Ji K_,l?‘wrz‘ J

(Adaptation) =3 .1

(Adjustment) =3b» / uﬁ‘l?'f

(Exceptional intelligence) wiids™ &
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50.

A complex feeling state accompanied by physiological arousal and
overt behaviour is

1.

2
3.
4

Motivation
Emotion
Sensation

Anxiety

‘L:/:)la&)’ogvugdbd'_l/'/'/ft’/,gjﬂé_/%l/?»b&w

(Motivation) J#
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(Sensation) UL~
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SGT URDU LANGUAGE

SET -2
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81.

82.

83.

SGT- ENGLISH - CONTENT

SET -1

Sylvia Townsend Warner wrote the following novel in English
literature

1. The Great Gatsby

2 Lolly Willowes

3. Brave New World
4 Cold Comfort Farm

The play ‘The Importance of Being Earnest’ was written by:

1. Christopher Marlowe

2. Robert Frost
3. William Shakespeare
4. Oscar Wilde

The poem ‘Meeting at Night’ was written by:

1. Lewis Carroll

2. Mathew Arnold
3. Robert Browning
4. Emily Dickinson



Choose the literary work of ‘Dorothy Parker’.

l. Good Souls
The Art of Political Lying

Preface to Pygmalion

Ll

In Praise of Idleness

The language used to write a business letter is:

1. informal
2 intimate
3. formal

4 colloquial

While writing a Precis, the purpose of changing compound and
complex sentences into simple sentences is:

1. to make the meaning clearer

2 to make the sentences shorter

3. to make the reader curious

4 to increase the length of a sentence



87. .mercury is the smallest planet in our solar system

Choose the correct article that fits the blank.

1. A

2 An

3. The

4 No article is needed

88.  Choose the sentence that does not need any article (a / an / the).

1. She is dancer.

2. Man is mortal.

3. He has black car

4. This cloth costs ten rupees metre.

89.  This boy is quick ....... inventing excuses.

Choose the correct preposition that fits the blank.

1 at
2. in
3. of
4. for



90.

91.

92.

93.

Choose the correct sentence regarding the use of the preposition

‘with’.

1.

2
3.
4

I was annoyed with her behaviour.
He was ashamed with her conduct.
This house is infested with rats.

She is engaged with Suman.

Here are some of our suggestions.

Choose the part of speech of the word, ‘some’.

1.

2
3.
4

an adjective
an adverb
a pronoun

a conjunction

All the boys are restless.

Choose the pronoun that can replace the subject, ‘All the boys’.

1.

2
3.
4

They
We
You
There

Choose the simple sentence among the following.

el

You must work hard to make up for the time lost.
The sun rose and the fog disappeared.
A learned man is respected where ever he goes.

She said that she was innocent.



94.

95.

96.

I don’t know where he lives.

The above sentence is

1. an interrogative sentence

2 an imperative sentence

3. a negative imperative sentence
4 a statement

This school reopens on 10" July after holidays.

This sentence expresses an action:

1. that happened in the past
2 to happen habitually

3. to happen in the future

4 that has already happened.

As soon as they .............. breakfast, they ran out to play.

Choose the correct form of the verb that fits the blank
grammatically.

1. had finished

2 will finish

3. will have finished
4

would have finished



97.

98.

99.

100.

I went to post a letter after my visitor ................. .

Choose the correct tense form that fits the blank.

1. will leave
2 had left

3. is leaving
4 will be left

Choose the monosyllabic word from the following.

1. captain
2. great
3. pencil
4. engine

The number of diphthongs in vowel sounds in English is:

1. 44
2. 24
3. 12
4. 8

Choose the word without having a silent letter in it.

1. foreign

2. muscle

3. sentry

4. conscious



101.

102.

103.

SGT- ENGLISH - METHODOLOGY

SET -1

‘The Lisping Stage’ in learning a language is.....

1. 0 to 6 months

2. 7 to 10 months
3. 11 to 18 months
4. 25 to 36 months

Identify the false statement.

1. NCEF -2005 proposed Child Centred Education

2. NCF-2005 suggested that Textbooks and other learning
materials should facilitate different learning activities

3. NCF-2005 recommended for ‘Teacher Centred Education’.

4. NCF-2005 suggested to link classroom learning activities
with life outside school.

In the word “pet’, /p/1is .....

1. an unvoiced, bilabial and plosive sound.

2. a voiced, bilabial and nasal sound.

3. a voiced, labio-dental and fricative sound

4. an unvoiced, labio-dental and plosive sound.



104. A broad and useful classification of talk as ‘interactional and
transactional’ was done by ...

1. Michael West

2 Brown and Yule
3. Diogenes Laertius
4

James Asher

105. The three levels of conceptualization called approach, method and
technique were identified by ..........

1. Edward Anthony
2 Harold Palmer

3. Henry Sweet
4

Otto Jesperson

106. Identify the example for the structural words.

1. wise

2 keenly
3. doctor
4 and

107. While framing the curriculum for a large group of learners spread
across the state, the golden rule applied is ........
1. highly complex
2 average as positive
3. below average
4

very low standard



108. Lesson planning begins with writing the ......

1. reflections of the teacher.
2 objectives of the lesson
3. evaluation questions

4 home assignment

109. “A textbook is a printed instructional material in bound form, the
contents of which are properly organized and intended for use in
elementary and high school curricula”

The above definition of a textbook was given by ....

1. Yule

2 Robert Cawdrey
3. Warren

4 King James

110. The ability to grasp the meaning of the text is called ......

1. comprehension
2. application

3. evaluation

4. synthesis



TET Cum TRT-2018
SGT — Maths — Set-A
(111 to 130)

111. If the compound ratio of 8 : 5% and the inverse ratio of 3% : l% IS

50 : x then the value of x is

E X e 50 xed S p Sl § 3% : 1% 8 5% Ji

Sws s
1. 60
2. 80
3. 110
4, 120

112. The compound interest on I 31,250 at 8% per annum for 2% years
IS

§et pard L 2% = 8% L ~oilg 31,250 )

< 7387

< 7837

< 8057
< 8750
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113. The population of a village increased by 6% annually. If the present

population is 17490 then the population of a village a year ago is

e 17490 kT2 SUS It Lot 6% U ESATS UKL

& SATS U JoLis
1. 16440
2. 16500
3. 16600
4, 16640

114. If the cost price of 10 articles is equal to the selling price of 8 articles

then the percentage of gain is

T Pl Lesped G 8 wred G 107

Ev
1. 10%
2. 15%
3. 20%
4. 25%



115. The value of /4096 x ,3/1:7:)

116.

20
18
16
12

> W npoE

38 Y4096 x 3 1:75

The number should be subtracted from%5 toget -1is

L 2
7
. 2
:
3 12
7
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117.

118.

If ‘x4y2z’ is 5 digit number is exactly divisible by 9 then the least

value of x+y+z is
X+y+z J“LC’}’Z(:.}//?J)&J'KL 9 ﬁaa;xu’mégug ‘x4y2z’ //l
d/njﬁd;fﬁd/

A W0 NN
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The G.C.D of two number is 7 and the first 3 quotients by the

division method are 1, 2, 3 then the numbers are

1, :/“g@/l} 3 %Lbé_ﬁwbc%}gﬁﬂme 7 _(_,L,}K)l,w!u
Maslos -t 2,3

21,70
29, 87
49,70
21, 49
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119.

120.

If 69.5 is the mean of 72, 70, x, 62, 50, 71, 90, 64, 58 and 82 then

the value of x is

—F-c_ 695 bslK 82 s 72,70, x, 62,50, 71, 90, 64, 58 = (b
Srdd x

76
75.5
75
74

A W e

At a shooting competition the scores of competition were given in

the table then the model score of the competition is

K.L@Jiq_‘agg@/)ufdﬁyfatlﬁwbuf.L&'»Lvé’;bg

V
€+ model score

Score

(/ﬁ{") 0 1 2 3 4 5
No. of Shots

(}'ﬁd/ujlﬁ) 0 3 6 4 7 5

7
5
4
2
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121.

122.

In a triangle the height is double the base and the area is 1369 cm?

then its height is (in cm)

—-< 1369 cm? J/K&U‘*Ji/;l‘aui)éz_ﬁﬁ'ﬁldﬂd/wbg

(AU
1. 20
2. 74
3. 46
4. 88

ABCD is a Rhombus. AC and BD are diagonals. If AC®> + BD? is

equal to
< bn$sle AC?+ BD? S 1t /3L U1 BD #IAC Uk ABCD

3AB’
10BC?
8CA’
4CD?

A W npoPe



123.

124.

If the area of an equilateral triangle is 16+/3 cm? then its perimeter is

(incm)
() Lol e 1643 0m? JKedsE woii$sls L1

48
24
12
28.6

A W npoe

In a cylinder the circumference of the base is 88m and height is 60m

then the curved surface area of the cylinder is (in m?)

IS e 605 S sl L 88k K aik 151 L]

(& mz)fn,}/%‘fd}f&:
1. 2580
2. 5820
3. 5280
4, 2850



125. If M=x?=xy + 7y%, N=23x -2y then the product of M and N is
P LE NS M M= —xy +7y2, N=3x—2y

3x% - 5x%y + 23xy? — 14y°
x® — Bx?y — 23xy — 12y°
2x% - 10x%y + 15xy — 7y°

N

X3 — X%y + 25xy° — 14y°

126. If two interior angles on the same side of a transversal intersecting
two parallel lines are in the ratio 2 : 3 then the smaller angle is (in

degrees)
uﬁuz}"JL’)éh?f:.bVQ&)//C'Lbd}/d’)L/g)/L}bdj’Fﬁ}j'
(SRS Do e 2:3 2

67
55
72
85

i



127.

128.

In a quadrilateral ABCD the angles A, B, C, D are respectively in

ratio of 1 : 2 : 4 : 5 then the sum of any three angles is (in degrees)
Ut 1:2:4:5 557 A B,C, D ;,UJ:ABCDJL’JQ.Q
(ufgﬂ-jj)gﬂ,&!égugﬂjufﬁuﬁw

300
325
280
250

A W e

InaAABC, A- B=33"and B- C=18%then A+ Bis

equal to

$slre A+ B B- C=18°. A- B=33"UYAABC

€y
1. 155°
2. 143°
3. 134°

4. 162



129. If 5"2x3%" =135 then the value of n

JA¢n 52 %373 =135 S

1 3

2 4

3.

.
5

130. Factors of 4a’— (2b—c)? are
P L 4a? - (2b - c)?

(2a+2b+c)(2a—-2b +¢)
(@-2b-c)(2b-a-c)
(2a+2b-c) (2a—-2b +¢)
(a+b-c)(2a-b-2c)

> w0 e
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SGT — Maths Methodology — Set-1 (DTP : Krishna Rao)
(131 to 140)

131. The term “Mathematics” is derived from the following two Greek
terms

‘al::'ilf'/}«éﬁgﬁwm&}@uéuwdt‘{/ “Mathematics” 54
Manthano, Techne

Manthanein, Techne

Mathaino, Techne

A W e

Arsmathematica, Techne

132. In Psychomotor domain the higher level objective than
“Articulation” is

Naturalisation

Manipulation

Imitation

> W e

Precision
4“.,:,4":“"‘ Ui}é/y/}&l(_ “EEL“”UﬁLU&d//)JW
(Naturalisation) <{ & .1

(Manipulation) 4§

(Imitation) ,gﬁ

S WD

(Precision) d/ yrioh



133. One of the following values that belongs to the Young’s

Classification of Educational value

Preparatory value
Cultural value

Mathematics as a mode of thought

A W poPe

Appreciations

%%ﬁa“d&g/}d//!ﬁl‘ﬁwZ:ufg”/ﬁfuﬂjj@/}
/ﬁd/d/g 1

Sde 2
ﬁ)/:;/}l’?u:a&/ 3
Je 4



134. This is not the characteristic feature of Deductive Method in

teaching mathematics

Proceeds from abstract to concrete
Proceeds from general to specific aspect

Proceeds from principle to example

A W poPe

Proceeds from conclusion to hypothesis

e e A3 IR
cFrduresf 1
cFredbart 2
Freddead 3
L&G’”’/.b.f'led/.h/‘”c‘-éll’ 4



135. One of the following is a merit of ‘Heuristic Method’

A lengthy, time consuming method
A laborious to teacher

The students actively participate in the learning process

B

Most of the teachers lack Heuristic spirit

eGP LS 3 OS5
by kneSalisfy .1
%&n/b/u.:éfwg)“iﬁfb'
o gt Jed o G
05 e 3 ¥

B W



136. One of the following is not a characteristic feature of good
mathematics text book

Free from printing mistakes.

Language should be simple, easy, to the level of the students.

Content should fit in the child centered education.

A W poPe

Size of the book should be too big.
e war® TS S S e
0 e Utblesy
w3 £ SE st 2
nqbééﬁgjf/ﬁ;v 3
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